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. This two-way table shows the results of a survey of the number of pets
microchipped at a veterinary surgery.

(a) What percentage of microchipped animals were:
(i) females? (ii)) female cats? (iii)) male dogs?
(iv) dogs?

(b) Draw a bar chart to show this information.
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2. Find the mean and the standard deviation of these scores.

Score Frequency
i) 6

2 15

3 12

4 25

5 L
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3. A back-to-back stem and leaf plot shows the numbers of mammals found in
two separate surveys of random areas of a forest.
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(a) Calculate the median number of mammals recorded in each survey.
(b) What is the mode of each survey?
(c) Find the mean and the standard deviation of survey 1.




